Legrest Support Assembly
94BKR
(16" to 24" Wide Chairs)




Legrest Support Assembly

94BKR
(16" to 24" Wide Chairs)

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 1035539 Handle, Release, Black - Right 1 1
1 1035540 Handle, Release, Black - Left 1 1
1 A 1031469-NLA | NLA - Handle, Release, Black - Right 1 1
1 A 1031470-NLA | NLA - Handle, Release, Black - Left 1 1
B 7930359-NLA | NLA - Package, Screw, Phillips Pan Head (#10-32 x 25 1
1/2")
B 67005X000 Rivnut (#10-32) 1 1
B 1008935 Spring, Release - Right 1 1
B 1008936 Spring, Release - Left 1 1
B 47565X057 Bushing (7/32 x 3/8 x 11/32") 1 1
2 1027095 Plug Button, Black (7/8") 1 1
3 1030948 Screw, Slotted Truss Head (5/16-24 x 1-1/2") 1 1
4 1095433 Plug Button, Black (7/8") 1 1
5 1017021 Stud 1 1
6 C 1031358-NLA | NLA - Tube, Support, Legrest, Elevating, Chrome - 1 1
Right
6 C 1031359-NLA | NLA - Tube, Support, Legrest, Elevating, Chrome - 1 1
Left
6 D 1149473-NLA | NLA - Tube, Support, Legrest, Elevating, Silver Vein 1 1
- Right
6 D 1149474-NLA | NLA - Tube, Support, Legrest, Elevating, Silver Vein 1 1
- Left
7 11232X009 Bolt, Lug (5/16-24 x 1-3/8") 1 1
8 7930365-NLA | NLA - Locknut (#10-32) 25 2
9 7930363-NLA | NLA - Package, Locknut (5/16"-24) 25 1
10 47071X405-NLA | NLA - Trough, Leg 1 1
11 43022X182-NLA | NLA - Foam 1 1
12 1002848-NLA | NLA - Cover 1 1
13 7930360-NLA | NLA - Package, Screw, Phillips Pan Head (#10-32 x 25 2
11/16")
14 04526X019 Plate, Legrest Pad 1 1
15 1091220 Spacer, Legrest 1 1
16 1025104 Bracket, Legrest, Chrome 1 1
17 1014807 Screw, Hex Head (5/16-24 x 3-1/4") 1 1
18 48823X008 Spring, Leaf 1 1
19 47328X003 Bushing, Pivot (5/16 x 7/16 x 7/8") 1 1
20 1031581-NLA | NLA - Legrest Support Tube Assembly, Adult, Black 1 1
- Right
20 1031582 Legrest Support Tube Assembly, Adult, Black - Left 1 1
20 AE 1033965 Legrest Support Tube Assembly, Adult, Silver Vein - 1 1
Right
20 AE 1033966 Legrest Support Tube Assembly, Adult, Silver Vein - 1 1
Left
21 1022874 Bumper 1 1




Legrest Support Assembly

94BKR
(16" to 24" Wide Chairs)

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
22 1030979 Screw, Phillips Pan Head Tap (#10-32 x 3/4") 1 1
23 E 1031583-NLA | NLA - Legrest Support Assembly, Adult, Silver Vein 1 1
- Right
23 E 1031584-NLA | NLA - Legrest Support Assembly, Adult, Silver Vein 1 1
- Left
23 AE 1034602-NLA | NLA - Legrest Support Assembly, Adult, Silver Vein 1 1
- Right
23 AE 1034603-NLA | NLA - Legrest Support Assembly, Adult, Silver Vein 1 1
- Left
B See Chart Pivot Slide Tube with Aluminum Footplate 1 1
NOTE: A - Only used on Power Back Recliners with Multi-Function Frames.
B - Not Shown
C - Before 7/6/07
D - After 7/5/07
E - After 7/5/07 Color changed from chrome to silver vein. It is recommended to order in pairs to match
Pivot Slide Tube with Aluminum Footplate
Description Size Right Left
Adult, Narrow Adult
and Large Adult (16" - 24") 1031216-NLA 1031217-NLA
(Rubber Edged Plate) See Note(s) A See Note(s) A
Slim Narrow " " 1030912-NLA 1030913-NLA
. . (14" - 15"
(Plain Aluminum Plate) See Note(s) B See Note(s) B
Extra Large " "
(Black Aluminum Plate) 16" - 24") 1031934-NLA 1031935-NLA

NOTE:

Riggings before 12/93, order in pairs to match.
B - Aluminum footplates on chairs built before 2/96 had a "Bright Aluminum" finish. Footplates after 1/96 now have a black finish.
For Front Riggings before 2/96, order in pairs to match.

A - Front Riggings built before 12/93 had footplates with a flat black finish. After 11/93 the finish is "Wrinkle Black." For Front




